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1)A,B and C invested capital in the ratio 5:7:4, the timing of their investments being in the ratio x:y:z.

If their profits are distributed in the ratio 45:42:28, then x:y:z?
T, st STRCHT F 5:7:4 o ST H GSH (et 3, ek (AT 1 S AT x:y:z H A1 i< SART ATH

45:42:28 o ITUTA W Toqiid foram ST 8, T x:y:2?

(a)7:9:4

(b) 6:7:9
GEXN
(d) 9:4:7




2. A starts a business with 21,000/- and later B joins him with 36,000/- After how many months did B

join if the profit is distributed in equal ratio?
A 9 Th AT 3T IESATA H 21,000 =T GSiT FHeI=T <Al TAT 0 THI 6 &€ B 36,000 o1 3 36 AR |

TIMHTR! M| Fie Tedsh ohl GHI ST TTH ST &I, A1 [ kL B Toh- I o STe SATICH IMHS GT 2

(a)3

(b) 7
(c) 6
(d)4




3. A started business with 45,000 and B joined after ward with 30,000. If the profit at the end of a year
was divided 1n the ratio 2 :1 respectively, then B would have joined A for business after.

W A A Toh SATIR h1 SESAT 45000 61 YST (A1 6T q41 e @0 S1e B 30,000 oI 3 36 AR H 2071 &
TR Afe Uoh N o A H 378 2 1 1 o AT H AT JTH §AT & A1 T skl B fohd T o oI1e SATIR H 21T

g

1 month
2 month
3 month
4 month




4. A,B and C jointly start a business A puts in 15,000 for 8 months B puts in ¥ 12,000 for 9 months and C puts in ¥
8,000, for the whole year. In the end of the year there is a profit of 10,800. The difference between A's share and C

share in the profit will be:

A, B a9 C  firetsht Teh =491 Y& {21 A 72 15000, 8 HEH o feTT, B 7% 12000, 9 HEH o fefq q91 C 9% 8000 T a1
o fTT &ITT | e |TeT o 31 1 T 10,800 3T AT T, AT A T C o TTH 3T ST 1 B2




5. A invested an amount of 25,000 and started a business . B joined him after one year with an

amount of 30,000. After two years from starting the business, they earned the profit of 46,000. What

will be B's share in the profit?

Ueh ST A 3T JEATA H 25,000 2 ST (T il Toh &9 o o1 B 30,000 T X 36 SATIR H A &
TRAT| ST shL SATAR shl ST o 2 I8 SI1E 46,000 3 el ATH H B =T &1 T T2

# 14,000
# 12,000
# 17,250
# 20,000




ratio 8:9, Find how long Y's capital was used.

X Q1Y Teh AR H SHHRT: 7:9 o STATd H A il o1 26l 8 | o st X o 31t f=eifra it oot fehret oft qeim 3 &1 3 8:9 % S3uTd H v 3T foharml 3a
IS Y+ STt it forar &t o forg, e <12

4 months
6 months
7 months

& months

©

T
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7. A and B started a business in partnership by investing in the ratio of 7 : 9. After 3 months A withdraw;

o
#

=i

iy

of its investment and after 4 months from the beginning B withdraw 335% of its investment. If a total

earned profit is Rs. 10201 at the end of 9 months, find the share of each in profit.

A 3R B 7 A13iERT H Teh SATIR & foRaT ST 7:9 o IUTd | 70T GSit Harer st 81 i 7 otg A 379+t

BN N . 1 -~ N ¢
| qﬁgldohm,cddl%?rwwﬁm{ ATe S1E B ST ISt T 33796 e AT &1 9T Il 9 HTE o 3 H

10201 3T TTH AT 2, AT I0H H Tk T G001 T T2

(a) 3535, 6666
(b) 3055, 5555
(c) 4503, 1345
(d) 35453333




Q-8 A, B and C started a business. Twice the investment of A is equal to thrice the investment of B and also five times
the investment of C. If the total profit after a year is ¥15.5 lakhs, then the share of B in the profit is (in Zlakh):

A, B 3R C 7 T o4 I foram| A o Fer=1 31 2T, B o6 o313 i AT ST C o THEI=1 o7 9i= 7T o S 2] F1 Th
Y o SI1E el AT £15.5 1@ &, Al 19 H B 1 8T (Toma ) &:




A, B and C together invests Rs.53,000 in a business. A invests Rs.5,000 more than B and B invests

Rs.6,000 more than C. Out of a total profit of Rs.31,800. Find the share of A
A, B 3 C Tiretert U so9dm™@ # 53,000 T 7 991 vt 21 A, B © 5,000 T 3Aferer fasr shar 2 ot

B, C ¥ 6,000 TR 372 THoI=T ST 81 et AT 31,800 TR 8] A T T8t J1T Shifsr

(2) 12,500
(b) 13,800
ORERN
(d) 12,800




10)X and Y enter a partnership with capital in the ratio 3:5. After 5 months X adds 50% of his capital,
while Y withdraws 60% of his capital. What is the share (in Lakhs) of X in the annual profit of ¥6.84
lakhs?

X HRY 3:5 % AT H YST o 61 WIgiar] § Yoz ld &1 5 el o6 sl1g X 70T GSil 1 50% ShedT 8,
STeifeh Y 3T GSiT =T 60% FeRTeT Tl 21 T6.84 TG o ATiSeh AT H X ol fo%dlT (AT H) fehaT 82

A.4.2
B.3.12
C.3.6
D. 3.72




11)A and B enter into a partnership with capital in the ratio 5:6. After 4 months, A withdraws 1/5 " of
his capital, while B increases his capital by 33 (1/3)%. What is the share (in ¥lakhs) of B in the annual

profit of 6.3 lakhs?
A FRB 5:6 o STUTT H YAl oh €1 WIS § ToI2T hd &1 4 A o o1, A 39T GSH T 1/5" HehTed ol

<, STefeh B TGS 33 (1/3) 91GT <dT &1 T6.3 AT o alfteh At | B 3T e (TATE o) 7 &7

(a)3.96
(b) 2.34
(c) 2.61
(d) 3.69




1 1 1 i |
12. In a partnership X invests P th of the capital for P th of the time, Y invests 3 rd capital for 3 rd

time and Z invests the remaining capital for the whole time. If at the end of the year the profit earned

1s 23,000 then what will be Y share?

. N N o 1 1 1 . 1
Torell ST T STt et ISt gthﬂmxfrgthwé?%mx ﬁ;qgﬁw, EW%%&H@HZ

4 29 Ysft gL w6 T et <l A samm  anfties @ 23,000 STH g1, A1 $EH Y ST Tt @ g




13. A started a business with the capital of Rs. 500. After 2 months B joined A with Rs. 400. 6
months after the business started C joined with Rs. 800. If the total profit earned at the end of the
year is Rs. 444 find the share of their profit.

A F 500 36T YT & Teh SATIN Y& AT 2l 2 HEH o1 B SATIR H 400 THoIRT T 81 SATIR I[% &I o 6 TR
o1& C T 800 THTTSHL AHATA BT STTAT &) Afe I oh 31 H el AT 444 B, 1 3qH § Tedeh 31 1 foheT 22

(a) T 180, T 120, ¥ 144
(b) T 150, % 130, % 123
(©)T160%F,141,F 125
(d)T 141, 110, %, 140




ey el

14. A, B and C are partners 1n a business partnership. invested Rs. 4000 for whole year. B invested Rs.
6000 1nitially but increased this investment upto Rs. 8000 at the end of 4 months, while C invested Rs,
8000 initially, but withdraw Rs. 2000 at the end of 9 months, At the end of year total earned profit 1s

Rs. 16950,find their share of profit.
A, B 3 C T TR H ATEER 2 A I AN 3 [T T 4000 AT AT 21 B STRFT H Z 6000 FHoI=T T & ote

AHTE o 3F= H 8000 3L 3T &l STeifeh ¢ AT H £ 8000 [+oI3T ShTdT § T 9 HIE o 3= H 2000 feh1e il
21 9N oh 3= H ITH T 16950 o AT H ¥ JAohehT fe&dm 1d hifsra?

(a) € 3600, T 6600, % 6750
(b) 2000, ¥ 3050, T 5400
(c) 2450, % 2460, % 1456
(d) None of these

i
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15. Two brothers invested ¥ 50,000 and ¥ 70,000 respectively in a business and agreed that 70% of t

profits should be divided equally between them and the remaining profit in the ratio of investment. If

one Brother Gets ¥ 90 more than the other . Find the total profit made in the business.

21 TSN 3 o AT =l H 3HAST: T 50,000 TATE 70,000 =hT GSit FHoI2T shll AT 3T 30 T foh et AT
70% FHTT &9 § qAT AY AT AT YSiT 6 ST H ST S afe Th ‘*Tréﬁaﬁ{ﬁ% 90 Jferer fred =,

T T 3 SATIR 3T TehaT ATH G2

(a) %1200
(b) T 1400
() T 1600
(d) %1800
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16. Two partners invest # 1,25,000 and # 85,000 respectively in a business and agree that 60% of the
profit should be divided equally between them and the remaining profit 1s to be divided into ratio of their
capitals. If one partner gets 300 more than the other. Find the total profit made in the business.

a1 Sf<hAl + Teh SATI shi TTEAT H 3HA: 1,25,000 TAT 85,000 ht

St et 3| |TEar Al 31 I% Toh el A1 3BT 60% HHIF &9 H TAT AT ArH e RT it o ST H ofiel

| STTQrTT| Ffe Teh WSS 31 g8 § 300 Afersh firetd ©, dl ST sl SATATC H et fohefIT AT g7 2

(a) 3739.50
(b) 3937.50
(c) 3749.50
(d) 3947.50
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17. A, B and C started a business with their investments in the ratio 1: 2: 4. After 6 month A invested

()

'- a —‘-—r
= b j
. :

=i

1
the half amount more as before and B invested same the amount as before while C withdrew Zth’ of the

his investments. Find the ratio of their profits at the end of the year.

A, BT C A AUt ST ShHRT: 122 : 4 3 STUTA H (a1 ek Teh SATIR I[F (61| 6 ATE sh 1@ A 3 e
St ot 1T SAfRe SR B o AU (AR YSft o SRS STiiRr SR fHewr shl, Sferfer Q 7 o1 faifRre gsit

1 - - e e :
T th T ATE R o 1 Y o A H I8 (e STIUTT H ATV [T

(a) 5:12:13

(b) 5:11:14

(c) 5:12:14

(d) None of these
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18. A, Band C are three partners in a business. The profit share of A 1s Te of the total profit and

i |
B's share iszof the total profit. If C receives 243, then the amount received by B will be :

. . ) 3 ) 1.
Teh AT H A, B A1 C T H12IGR &,A 31 AT el 7 oh|1—6%H$TBwaTﬂTsrghc1 AT oh|Z%|
I C I F 243 T ATHIY 0T @ B ol fora1 TfsT faefio

(a) 90
(b) 96
(c) 108
(d) 120




received 15% of the profit for managing the business and the rest is divided in proportion to their

capitals. The amount received by A out of the profit of 880 in all is:

Ueh SATIR H A GishT ATsier g 99T B [Hitsha gr@ier 81 A 5000 Hasr &tar 8 a1 B 6000 fHawr st =1 A
HICITH T 15% SATAR AT o6 Tl FHEAT & ST T 19 IHeh GSit oh T3k STl s ST 81 880 o el
AT H G A I TeraHT UfsT fuerfio
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20. A, B and C started a business by investing Rs. 24,000, Rs.32000 and Rs.18000 respectively. A
and B are active partners and get 15% and 12% of total profit and remaining profit is to be
distributed among them 1n the ratio of their investment. If C got total Rs.65700 as a profit, what was

the total amount of profit ?
A, B T9T C Ueh TR H HATT: 15 24000 1,532000 TAT rs18000 T hid 8| A 9T B GfshT HZIeR 8

| AT 3R] et AT ohl SHHRT: 15% AT 12%63TH Il 81 AT TATH 1 IFeh R (HATRTA GSiT o AT H sl
o STt 81 Afe C et 65700 STH AT B, A1 1T IS fofs AT kT Spet AIRT T off?

(a) 2470000
(b)  3,70,000
(c) 3,45,000
d) 1,57,000




21. A and B started a business in partnership by investing Rs. 10,000 and Rs. 4000
respectively. Condition of partnership is that B got Rs. 100 per month for management of the
business. After paying 5% interest on the capital, annual profit has distributed in the ratio of

their investment/ find the share of their ratio, If the annual profit is Rs. 4000.

A SR B 10,000 &9 37 3HATT: 4000 T AT Hleh ATHER] H Ueh 4o Y& (o). |l st
31 I & foR B &1 . 100 M 718 SAa@ o Teie o foTg | 45t OX 5% SATST & o &S, JTfteh @y
3ok [HeIRT o STUT | ford e 21 T /3o AT o1 e J1d o, afe sk Ay &9 21 4000.

(a) 3000 each
(b) 2500 each
(c) 1500 each
(d) 2000 each

&
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